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Multiplicar por potencias de diez (nimero faltante)
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Nombre: Fecha: Puntuacion:
4,93 x = 4930 7,414 x =74.14
2,676 % = 2676 2,928 % = 2928
9, 524 x = 0524 10, 086 X = 100.86
8, 484 x = 8484 8, 855 X = 88.55
6, 169 % =61.69 3,418 % =341.8
8, 161 x = 81.61 9, 141 x =9141
4,494 x = 4494 1,735 % =17.35
3, 758 x =375.8 5,207 x = 520.7
3,383 x = 338.3 6, 543 x = 6543
8,33 % =83.3 2,444 % =244 .4
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Nombre: Fecha: Puntuacion:
4,93 x 1000 = 4930 7,414 x 10 = 74.14
2,676 x 1000 = 2676 2,928 x 1000 = 2928
9,524 x 100 = 952.4 10,086 x 10 = 100.86
8,484 x 100 = 848.4 8,855 x 10 = 88.55
6,169 x 10 = 61.69 3,418 x 100 = 341.8
8,161 x 10 = 81.61 9,141 x 10 = 91.41
4,494 x 1000 = 4494 1,735 10=17.35
3,758 x 100 = 375.8 5,207 x 100 = 520.7
3,383 x 100 = 338.3 6,543 x 1000 = 6543
8,33 x 10 = 83.3 2,444 x 100 = 244.4
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